Pinion Gear Set (Black)

. 525
MZEBK | =y v ey b (T5v2)

Motor Set 945

MZ9P | £—5—t v h

Tie Rod & Shock Stay Set 315
MZ153 | 51Oy R&FVI\—RF— v k

Motor Case Set (HM) 473
MZ154 | £—5—4r—2t v k (HM)

Front Suspension Parts Set 505
MZ203B| 7oy h 2RV Y 3V /t—YEy b

Motor Case Set (MM) 473
MZ204 | £—5—s—2£ v k (MM)

Rear Shock Set 630
MZ206B| y 757> )¢—t v k

Differential Gear Assembly 945
MZ207 | =5 2v 7yt 7 —

Motor Case Set (RM) a3
MZ210 | £—5—4—2t v k (RM)

Motor Case Set (LM) 788
MZ301 | £—5—s—2£ v k (LM)

Differential Gear Assembly (LM) 945
MZ302

FIEYFZyvEYTY—(LM)

66




Main Chassis (MR-03)
XAy v I—tv k (MR-03)

Small Parts for Chassis (MR-03)

2x5mm TP Screw
2x5mm TPE X

2x5mm TP F/H Screw
2x5mm TPH S EX

2x4mm TP Screw (Small Head)

LI

QWXZ
IDWXS

([ x 2

2x4mm TPE Z (/\GE)

MZ402 | 53—t v k (MR-03) 735
(0.5mm)
Small Parts for Suspension (MR-03)
MZ403 | 42~y Y 3 viMp—Y Y b (MR-03) 630
Servo Gear Set (MR-03)
MZ404 | 4 k% vy ~ (MR-03) @ S 8RS B o | s
Servo Saver Assembly (MR-03) D <
MZ405 | 4t trf )\—7 v 2> 7 U — (MR-03) & 630
Front Suspension Arm Set (MR-03) . @
MZ406 | 70y f42RYy 3y P-4ty k (MR-03) % 420
)
Suspension Shaft Set (MR-03)
MZ407 | 4 2xyyav v 7 by f (MRO3)| 7 © © 473
R/C Unit Set (MR-03)
MZ408 | R/C1= v kv b (MR-03) 8925
Screw Set (MR-03) 2x8mm TP Screw
MZ409 | 'z £ v k (MR-03) 2x8mm TPE'Z 473
2x6mm TP Screw
2x6mm TPE'X

% This parts illustration only identifies spare parts for the MR-03. / Die Teilezeichnungen beziehen sich nur auf den MR-03.
Cette illustration identifie uniquement les pieces pour la MR-03 / Los dibujos muestran algunos repuestos para el MR-03.
MRREABBICEENDILDDOAREHINTNET,

67




